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Determine which pair of functions are inverse functions.
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Gilda used the formula f(x) =
Find the inverse of f-1(x).

g to convert square inches to square feet.
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State the domain and range of
the function graphed.
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Which inequality is graphed?
Fy<Vix+8
G y>Vix+8
Hy<Vix+s
JyzVax+8
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flo) = x% + Tx + 12
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gx)=x*-9
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(f — 2)(x)
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fla) = > + Tx + 12
glx)=x2 -9
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gx)=x+14
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Graph y < Vx +2.
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The appproximate time ¢ in seconds that it takes an object to fall a distance
How far will the object fall in 6 seconds?

of d feet is given byt = |-
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Graph y = V3x + 6. Then state the domain and range
of the function.
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8.
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Graph y = V/2x — 8. Then state the domain and range
of the function.
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When inflation causes the price of an item to increase, the new cost C and
the original cost ¢ are related by the formula C = c(1 + )", where r is

the rate of inflation per year as a decimal and n is the number of years.
What would be the price of a $3000 item after six months of 6% inflation?
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